~. Bolev ‘@iz

N
B

o
©
=
o
=
o
v
o
ni
3
“

EEENELENEBELS,

it
S35 an e ||
EEENFEETIEN

KHB BKH). KHM M KH)&RF S E3KIE

KHB(BKH). KHM(MKH) Series High Pressure Ball Valve

BIZi7AA M odelCode

KHB -- M27%1.5--1112 --01 X -- *

1 2 3 4 5 6 7 8 9

1. RFIKS: KHBBKH)EF . KHM(MKH) &%
Series Code: KHB(BKH)Series, KHM(MKH)Series
2. EEAS: M. G LR, **SR. PT**, NPT*
Joint Code:M**,G**,**LR,**SR,PT** NPT**
30 RETR 1R
Valve Body Material: 1-Steel
4. BRIEFRL: 1. 2-#
Ball Body Material: 1-Steel, 2-Brass
5. I{ERE: 1.-25~+100C. 2. -30~+170C
Operating Temperature: 1. — 25~+100C, 2. - 30~+170 C
6. HMZat: o-THEBK. 4-FBK
Other Airproof: 2-NBR, 4-FPM
7. FHREN: O1-$AREM. 02-RR MM, 03— EM. 04—t fim

05—t EM. 06— MR MM, 09-FHFHE
Handle Type: 01-Aluminium straight handle, 02—-Aluminium crooked

handle, 03-Casting zinc straight handle, 04-Casting zinc crooked
handle, 05-Steel straight handle, 06—Steel crooked handle, 09-Without
handle

8. ®iItFS: HEFHE
Design Number: To be decided by the manufacturer

9. RELE: =A-BL. G-BEERE

Surface Disposal: Blank—Phosphoric polish, G—Electroplated yellow zinc

£i%: EFANBR/Applicable Medium: & /E3# Hydraulic Oil

SMIZR ST O verallD im ension

1S09001:2008

KHB(BKH)Z! KHM(MKH)Z!
L SW1 L SW1
m sw2 Sw2
I

—_— ; hnla\F ™
g \NAJ| = SZPE

L1 L\‘N L1 Lw

L B L B

lg 01 Eﬁﬁ%ﬂiﬁ%ﬁ?ﬁﬁ I www.bolev-hydraulics.com



Bolev &5z

=
: , = (i
SMIZR~E 0 verallD in ension 3 f
EEOREE BRI S : 4
Connection Dot No. (bpg‘r) DN LW RA  di i L U1 B H hl  h2 SWI sw2 : 22
M a1 KHB-M16x1.5 500 06 06 11 M16x15 11 69 40 26 45 135 33 09 22 %
RA KHB-M22x15 500 10 08 16 M22x15 12 76 42 32 49 16 36 09 27 G
W KHB-M27x15 500 10 10 20 M27x15 12 76 42 32 49 16 36 09 27 :
: KHB-M30x15 400 16 15 24 M30x15 13 84 48 38 61 19 45 09 32
- “4 sw2[ KHB-M36%x2 315 20 20 30 M36x2 15 103 60 48 70 25 55 12 41 ’
KHB-M42x2 315 25 25 35 M42x2 18 116 65 57 79 285 64 12 50 '
spamamesarrie | KHB-M52x2 315 32 30 40 M52x2 20 149 84 75 101 375 84 14 60
Thisteinaccre 2" | KHB-M60x2 315 40 38 45 M60x2 22 174 91 85 112 425 95 14 70
G KHB-G1/8 500 06 06 / G1/8 14 69 40 26 45 135 33 09 22
KHB-G1/4 500 06 06 / G1/4 14 69 40 26 45 135 33 09 22
KHB-G3/8 500 10 10 / G3/8 14 72 42 32 49 16 36 09 27
" KHB-G1/2 500 13 12 / G1/2 14 83 47 35 49 18 38 09 30 <
w ] o, | KHBGI2 400 16 15 / G1/2 16 83 48 38 61 19 45 09 32
! KHB-G3/4 315 20 20 / G3/4 18 95 60 48 70 25 55 12 41 :
e KHB-G1 315 25 25 / G1 21 113 65 57 79 285 64 12 50
A .1 KHB-G1'/4 315 32 32 |/ G174 22 110 84 75 101 375 84 14 60
‘ KHB-G1'/2 315 40 38 / G172 24 130 91 85 112 425 95 14 70
KHB-G2 315 50 48 / G2 26 140 100 104 131 52 1125 14 90
NPT(PT KHB-NPT1/8 500 06 06 / NPT1/8 11 69 40 26 45 135 33 09 22
(PT) KHB-NPT1/4 500 06 06 / NPT1/4 11 69 40 26 45 135 33 09 22
“ KHB-NPT3/8 500 10 10 / NPT3/8 11 72 42 32 49 16 36 09 27
» KHB-NPT1/2 500 13 12 / NPT1/2 14 83 47 35 49 18 38 09 30
~ 1| ] KHB-NPT1/2 400 16 15 / NPT1/2 14 83 48 38 61 19 45 09 32
ERZIn \j KHB-NPT3/4 315 20 20 / NPT3/4 15 95 60 48 70 25 55 12 41
0 i KHB-NPT1 315 25 25 / NPT1 17 113 65 57 79 285 64 12 50
KHB-NPT1/4 315 32 30 / NPT1/4 18 110 84 75 101 375 84 14 60
KHB-NPT1/2 315 40 38 / NPT1/2 18 130 91 85 112 425 95 14 70
KHB-NPT2 315 50 48 / NPT2 18 140 100 104 131 52 1125 14 90
IR KHB-06LR 500 06 04 06 M12x15 10 67 40 26 45 135 33 09 22
KHB-08LR 500 06 06 08 M14x15 10 67 40 26 45 135 33 09 22
KHB-10LR 500 08 08 10 M16x15 11 74 42 32 49 16 36 09 27
L KHB-12LR 500 10 10 12 M18x15 11 74 42 32 49 16 36 09 27
d1 KHB-15LR 500 13 12 15 M22x15 125 82 47 35 53 18 38 09 30
RA KHB-15LR 400 12 12 15 M22x15 12 82 48 38 61 19 45 09 32
w KHB-18LR 500 13 12 18 M26x15 125 82 47 35 53 18 38 09 30
, KHB-18LR 400 16 15 18 M26x15 12 82 48 38 61 19 45 09 32
- =) 57| KHB-22LR 315 20 19 22 M30x2 14 101 60 48 70 25 55 12 41
KHB-28LR 315 25 25 28 M36x2 14 108 65 57 79 285 64 12 50
KHB-35LR 315 32 30 35 M45x2 16 141 84 75 101 375 84 14 60
KHB-42LR 315 40 36 42 M52x2 16 162 91 85 112 425 95 14 70
SR KHB-08SR 500 06 05 08 M16x15 12 73 40 26 45 135 33 09 22
KHB-10SR 500 06 06 10 M18x15 12 73 40 26 45 135 33 09 22
orr KHB-12SR 500 08 08 12 M20x15 12 76 42 32 49 16 36 09 27
ar KHB-14SR 500 10 10 14 M22x15 14 80 42 32 49 16 36 09 27
Ra KHB-16SR 500 13 12 16 M24x15 14 8 47 35 53 18 38 09 30
W KHB-16SR 400 12 12 16 M24x15 14 86 48 38 61 19 45 09 32
‘ KHB-20SR 500 13 13 20 M30x2 16 90 47 35 53 18 38 09 30 ';
- [ ] sv2| kHB-20SR 400 16 15 20 M30x2 16 90 48 38 61 19 45 09 32 q =
' KHB-25SR 315 20 20 25 M36x2 18 109 60 48 70 25 55 12 41 z
KHB-30SR 315 25 25 30 M42x2 20 120 65 57 79 285 64 12 50
KHB-38SR 315 32 30 38 M52x2 22 153 84 75 101 375 84 14 60

. T S REEEAE -
IOE www.bolev-hydraulics.com I Ningbo Bolev Hydraulics Co,.Ltd. m 02



